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H 43 41 84 12.0 72.0
2 = 41 44 85 130 720
3L £ F 38 36 74 1.0 730
441 ! 39 42 81 3.0 730
54z ==)] 47 36 77 3.0 740
613 F 43 44 87 130 740
7451 TH 37 40 77 3.0 740
v % A 37 40 77 30 740
9fir 8L 39 45 84 9.0 75.0
1045L = 46 47 88 130 75.0
154 S 46 44 90 130 770
204z IH 49 46 88 100 780
2543 i3] 44 45 89 170 780
3013 FiE 48 47 89 170 78.0
351 B 45 46 91 120 79.0
404z [ii] 2N 44 45 89 9.0 80.0
45431 an 45 49 94 130 87.0
BB AR 45 50 95 8.0 870
BG A FF 38 36 74 10 730
B:aRT4av—)T1{EH-HDCP14LL E
] 47 48 95 26.0 69.0
1B IE 48 45 93 230 70.0
3fiz = 15 48 49 97 26.0 710
i PN 50 52 102 30.0 720
541 [ESS 46 44 90 180 72.0
6L —& 46 47 93 200 730
pioi i 43 50 93 190 740
8{i AR 46 47 93 180 75.0
941 BT 46 46 92 170 75.0
1045z 1y, 48 42 90 15.0 75.0
151 Pt 47 47 94 180 76.0
201z PESS 52 50 102 240 78.0
25{L B 46 47 93 15.0 780
301 ZEr 45 50 95 16.0 79.0
35z =L 52 50 102 220 80.0
40131 FaE 43 55 98 180 80.0
45431 F T 47 54 101 20.0 81.0
501z oA 50 51 101 19.0 820
5541 Epid 57 48 99 16.0 830
6013z B 56 43 99 140 85.0
BB =g 53 58 111 180 93.0
BG HE 48 44 50 180 7970
SL:B-TF—ILK-FH-EHT—HT1EH
HF 34 39 73 11.0 62.0
EER Kix 38 41 79 12.0 67.0
3L FEE 50 44 94 27.0 67.0
AL =JR 44 46 90 220 68.0
51 [ /NS 45 42 87 18.0 69.0
61 .40 45 42 87 18.0 69.0
74 KIS 50 49 99 290 70.0
81 0H 48 48 96 26.0 70.0
9L = A 50 50 100 30.0 70.0
10432 F ¥ 48 45 93 220 71.0
1541 9%_]: 47 45 92 21.0 71.0
201z IE 5 43 45 88 16.0 72.0
2541 =¥ 50 49 99 26.0 73.0
301z [# H 45 43 88 14.0 74.0
35z 1_1%_ I 51 48 99 240 75.0
401z R 48 51 99 24.0 75.0
4541 ,;TS% 51 47 98 21.0 77.0
5013z aA 44 46 90 130 77.0
55{i FF01| 49 49 98 200 78.0
601z [T 56 53 709 30.0 79.0
651 LA 56 50 106 270 79.0
BB 5g 66 63 129 30.0 99.0
BG H 34 39 73 11.0 62.0




